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hgs lzIff ;fdu|L s]Gb| lnld6]8 

b/vf:t ;+sng ljj/0f÷:jLs[t gfdfjnL 

 

lj=g+= M– $÷)&^–&& ;]jf ÷;d"xM– k|f=÷ckm;]6 dfu kb ;+VofM– $ 

kbM zfvf clws[t >]0fL÷txM– ^ lj1fkg ePsf] ldltM– @)&^.)%.@& 

 

j|m=;+= /f]n g+= pDd]bjf/sf] gfd,y/ lnË afa'sf] gfd cfdfsf] gfd afh]sf] gfd 
ef}r/÷/l;

b g+= 
z'Ns 

;Dks{ 

g+=÷df]afOn 
s}lkmot 

1=  01 >L ldng dxt k'?if >L gf/fo0faxfb'/ 

dxt 

>L ;'lgtf dxt >L ef]h]Gb|axfb'/ dxt /f=jf= a}+s 600. 9841648897 v"nf 

2=  02 >L /d]z yf¿ k'?if >L c6jf/L yf¿ >L k|]dL y¿gL >L h+unL yf¿ /f=jf= a}+s 900. 984989490

0 

v"nf÷cflbjf;L÷hghflt 

3=  03 >L ;+ho/fh s]=;L= k'?if >L huGgfy s]=;L= >L ;ljtf s]=;L= >L P]gaxfb'/ s]=;L /f=jf= a}+s 600. 9860866632 v"nf 

4=  04 >L k|ldnfs'df/L 

nfld5fg] 

dlxn

f 

>L ab|Lk|;fb 

nfld5fg] 

>L uf]dfb]jL 

nfld5fg] 

>L an/fd nfld5fg] /f=jf= a}+s 900. 9860070395 v"nf÷dlxnf 

5=  06 >L s[i0fsnf kf}8]n dlxn

f 

>L b]jL/fd kf}8]n >L lbgsnf kf}8]n >L uf]ljGb kf]8]n /f=jf= a}+s 900. 9849462723 v"nf÷dlxnf 

6=  07 >L Zofds[i0f k|hfklt k'?if >L huts[i0f 

k|hfklt 

>L s[i0fdfof 

k|hfklt 

>L hutaxfb'/ 

k|hfklt 

/f=jf= a}+s 900. 9841620696 v"nf÷cflbjf;L÷hghflt 

7=  08 >L Ps/fh ;'j]bL k'?if >L af;'b]j ;'j]bL >L u+uf ;'j]bL >L lz/ktL ;'j]bL /f=jf= a}+s 600. 9851099329 v"nf 
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hgs lzIff ;fdu|L s]Gb| lnld6]8 

b/vf:t ;+sng ljj/0f÷:jLs[t gfdfjnL 

 

lj=g+= M– !)÷)&^–&& ;]jf ÷;d"xM– k|f=÷ckm;]6 dfu kb ;+VofM– $ 

kbM al/i7 ;xfos >]0fL÷txM– % lj1fkg ePsf] ldltM– @)&^.)%.@& 

 

j|m=;+= /f]n g+= 
pDd]bjf/sf] 

gfd,y/ 
lnË afa'sf] gfd cfdfsf] gfd afh]sf] gfd 

ef}r/÷/l;

b g+= 
z'Ns 

;Dks{ 

g+=÷df]afOn 
s}lkmot 

1=  01 >L k|eft k|sfz xf8f k'?if >L x]d axfb'/ xf8f >LdtL ;'wf xf8f >L nfn axfb'/ xf8f /f=jf= a}+s 750. 9841451009 v"nf÷cflbjf;L÷hghflt 

2=  03 >L piff ;fksf]6f dlxnf >L s[i0fk|;fb ;fksf]6f >L ;fljqL ;fksf]6f >L glGbs]z/ 

;fksf]6f 

/f=jf= a}+s 750. 9841574563 v"nf÷dlxnf 

3=  04 >L /d]z yf¿ k'?if >L c6jf/L yf¿ >L k|]dL y¿gL >L h+unL yf¿ /f=jf= a}+s 750. 984989490

0 

v"nf÷cflbjf;L÷hghflt 

4=  05 >L /d]zs'df/ bfxfn k'?if >L n]vgfy bfxfn >L wgdfof bfxfn >Ls0ff{v/ bfxfn /f=jf= a}+s 500. 9841075518 v"nf 

5=  06 >L clg; kf}8\ofn k'?if >L påjk|;fb kf}8]n >L ;'eb|f kf}8]n >L xl/ljgf]b kf}8]n /f=jf= a}+s 500. 9841099983 v"nf 

6=  07 >L ;+ho/fh s]=;L= k'?if >L huGgfy s]=;L= >L ;ljtf s]=;L= >L P]gaxfb'/ s]=;L= /f=jf= a}+s 500. 9860866632 v"nf 

7=  08 >L hfg'sf yfkf dlxnf >L xl/axfb'/ yfkf >L d}gf yfkf >L t]haxfb'/ yfkf /f=jf= a}+s 750. 9860038218 v"nf÷dlxnf 

8=  09 >L ;ljtf 9sfn dlxnf >L >LsfGt 9sfn >L OlGb/f 9sfn >L lr/l~hjL 9sfn /f=jf= a}+s 750. 9849990771 v"nf÷dlxnf 

9=  11 >L hfgsL rf}w/L dlxnf >L r'/0fk|;fb rf}w/L >L 7luof rf}w/L >L OGb|k|;fb rf}w/L /f=jf= a}+s 1,000. 9866825359 v"nf÷dlxnf÷cflbjf;L÷hghflt 

10=  12 >L ;'l:dsf ;'g'jf/ dlxnf >L nIfdfg ;'g'jf/ >L zfGts'df/L ;'g'jf/ >L z]/axfb'/ ;'g'jf/ /f=jf= a}+s 1,000. 9860049797 v"nf÷dlxnf÷cflbjf;L÷hghflt 

11=  13 >L ljj]s yfkf k'?if >L uf]s0f{ yfkf >L ejfgL yfkf >L eLdaxfb'/ yfkf /f=jf= a}+s 500. 9841769693 v"nf 

12=  15 >L rGb|fjtL a:g]t dlxnf >L s[i0faxfb'/ a:g]t >L clgtf a:g]t >L g/axfb'/ a:g]t /f=jf= a}+s 750. 9841930423 v"nf÷dlxnf 

13=  16 >L gf/fo0f e§/fO{ k'?if >L v8fgGb e§/fO{ >L aLtfs'df/L e§/fO{ >L gGbnfn e§/fO{ /f=jf= a}+s 500. 9840336309 v"nf 

14=  17 >L ljdnf a'9f dlxnf >L dfgaxfb'/ a'9f >L dg;/L a'9f >L jL/axfb'/ a'9f /f=jf= a}+s 500. 9843330102 v"nf 

15=  18 >L OGb's'df/L rf}w/L dlxnf >L ;'/]Gb|s'df/ rf}w/L >L levgLb]jL rf}w/L >L laxf/Lnfn rf}w/L /f=jf= a}+s 1,000. 9842560070 v"nf÷dlxnf 

16=  19 >L ;Gtf]if s'df/ 

sfsL{ 

k'?if >L tf]/0f axfb'/ sfsL{ >L rGb|b]jL sfsL{ >L 8Da/ axfb'/ sfsL{ /f=jf= a}+s 500. 9841462753 v"nf 
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hgs lzIff ;fdu|L s]Gb| lnld6]8 

b/vf:t ;+sng ljj/0f÷:jLs[t gfdfjnL 

 

lj=g+= M !$÷)&^÷)&&                 ;]jf ÷;d"x M k|fljlws÷lk|–k|];                                                                   

dfu kb ;+Vof M ! 

kb M jl/i7 ;xfos                                           >]0fL÷tx M %                         lj1fkg ePsf] ldlt M @)&^.)%.@& 

 

j|m= 

;+= 

/f]n 

g+= 
pDd]bjf/sf] gfd,y/ lnË afa'sf] gfd cfdfsf] gfd afh]sf] gfd ef}r/÷/l;b g+= z'Ns 

;Dks{ g+=÷ 

df]jfOn g+= 

 

s}lkmot 

1=  01 >L rGb|fjlt a:g]t dlxnf >L s[i0f axfb'/ 

a:g]t 

>L clgtf a:g]t >L g/axfb'/ a:g]t /f=af= a}+s 500. 9841930423 v"nf 

2=  02 >L k|eft k|sfz xf8f k'?if >L x]d axfb'/ xf8f >LdtL ;'wf xf8f >L nfn axfb'/ xf8f /f=af= a}+s 500. 984145100

9 

v"nf 

 


